100 8 = )ii’iit-%%%?,;yfi?,ilﬂ TETRALTIR AL P 2§ A PRk

i o B o - P
;z PR e BE A | P j gf j— gf At
F R (-) 1 1 1
2 HIAH(S) 1 1 1
¥ a‘ (=) 1 1 1
A F A () 1 1 1
g | BF %I}'T)f" 2 5 3 3 3
Polsesrrgeipy | 3 | 3 3
Lz (-) 3 3 3
MiLHm= (=) 3 3 3
1 16 16 4 4 4 4
RS 2 2 2
pis B8 E Rk 2 | 2 | 2
e F R R 2 5 5
R BB R 2 2 2
i gL B 2 2 2
Gt ARG 2 2
FrARET RN 2 | 2
o |EHEEEIEas 2
g |
(S i R kI 2
FPrirddm= gir 2 2
oA E % 2 | 2
i ek 2 2
LRI g 2 2
BARS L TeR R &
- 2 2 2
1
e 28 | 28 | 10 | 10 | 8
B | BrER S 44 | a4 | 14| 14 ] 12 ] 4
[

1~ A E2 ZBEMPH9 FER > FATARLF ) F2 i@ 2B R T33Y 54
FEFEEEY)RITTRFE R L YRBALBYFEP > FLER A RE R
B2 IR RIBEE L NF

2 RSB EEN REL LB 16 BA(F FHLHY 65 L) ER 168 A(F)1 L -

3~ ﬂ\%%«‘ﬁ}s% E\‘ ’(F’!Fp%(;P— E]PE-’—-—f,_],{j\hl—rﬁk%wg%ﬁﬂp&?A\p%:&gzgo




